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HA3—2 BEMICERTHEBEESNSHEICRHT HFE/1) . _ _| AEEE RIS F/E
SEsMOME | BEmMES 205AN5176 BT \ A [ Piiedh | e = N R
SEMMOTIRICHEET ST SMERHA
*ﬁi,];ﬂg TREOBBOEILADKES TREDHBSILEADKRES TREOBBOEILADKRES TREDEBSSLADKRES
= X 4 S | Tiwmho0ESE ADKES X 4 TIwALDKE | B ADKES X 4 Bz | LEArSOES ADKES R 4 Timmrootks | g5 ADKES
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/m#%# 25| 1.00 | 0.00 ~ 3.04 148.35 |3m&x#EZH| — ~ — — — | 100kN/M%ZE#BZB | 1.00 | 1058 ~ 2895| 148.35 |3m%E#BZD -~ — — —
Zh st 100|304 ~ 1082 100.00| TS | 000 ~ 1082|298 15.97 Zh s 100|500 ~ 1058 100.00| TN | 5.00 ~ 2895|298 15.97
2 100kN/m##8%%| 1.00 | 000 ~ 197 13045 |3mEBZB| — ~ — — — | 100kN/M%ZE#BZB | 1.00 | 11.85 ~ 2590 130.45 |3mE#BZD -~ — — —
ZzhnLst 1.00 | 197 ~ 9.76 100.00 | =nls | 000 ~ 9.76 | 2.75 14.73 ZzhnLst 1.00|5.00 ~ 1185 100.00 | =N | 5.00 ~ 2590|275 14.73
P 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZE#BZ 3 -~ — — -
ZzhnLst 1001000 ~ 586 73.35 | =S | 000 ~ 586175 9.36 ZzhnLst 1.00 | 5.00 ~ 6.60 73.35 | TnLUS | 600 ~ 6.60)1.75 9.36
P 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZEHBZ 3 -~ — — -
ZzhnLst 10011000 ~ 7.75 99.51 | #hs | 0o0 ~ 775|241 12.59 ZzhnLst 1.00 | 5.00 ~ 1132 99.51 | =nLS | 6,00 ~ 11.32)| 241 12.89
5 100kN/m#%# x5 | 1.00| 000 ~ 260 140.94 |3m%x#EZDH| — ~ — — — | 100kN/M%ZE#BZB | 1.00 | 1141 ~ 3732 140.94 |3m%E#BZD - =~ — — —
ZzhnLst 1.00 | 260 ~ 1039 100.00 | =hs | 000 ~ 1039] 290 15.561 ZzhnLst 1.00 | 56.00 ~ 1141 100.00 | =nRSY | 5.00 ~ 3732|290 15.61
¢ 100kN/ Mm% 25| 1.00 | 000 ~ 311 149.65 |3mERBZAB| 0.00 ~ 002 3.01 16.12 | 100kN/m%E 25| 1.00 | 1077 ~ 3732 149.65 |3mZE#BZ 3| 3000 ~ 37.32| 3.01 16.12
ZzhnLst 1.00 | 311 ~ 109 100.00 | =hs | 002 ~ 1090] 5.00 16.05 ZzhnLst 1.00 | 5.00 ~ 10.77 100.00 | =nRSY | 5.00 ~ 3000| 3.00 16.05
7 100kN/m#%#z25| 1.00)| 000 ~ 1.74| 12676 |3mZEBZB| — ~ — — — | 100kN/mi%#BZ25 | 1.00 | 1202 ~ 1882| 126.76 |3m&E#BLS - =~ - - —
znLst 1.00 | 1.74 ~ 9.53 100.00 | =nlst | 000 ~ 953 2.69 14.40 zhnLst 1.00 | 5.00 ~ 1202 100.00 | =nRS | 5.00 ~ 1882 2.69 14.40
g 100kN/m##8%%| 1.00|000 ~ 114 11718 |3mE¥EZB| — ~ — — — | 100kN/mi%#Bz25 | 1.00 | 1082 ~ 1432 11718 |3m%E#i5 - =~ - - -
znLst 1.00 | 1.14 ~ 892 100.00 | =nhst | 000 ~ 892|231 12.38 zhnLst 1.00 | 5.00 ~ 1082 100.00 | =nRSY | 5.00 ~ 1432|231 12.38
100kN/ Mm% % % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEHBZD ~ 100kN/m%#Z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/m#E#8Z % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEHBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/m#E#BZ % ~ ImEIBZD ~ 100kN/m%#Z 5 ~ ImEEZD ~
Zzh st ~ Th s ~ Zzh st ~ Zzh s ~
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